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for (1 f’ i<n; i++)
i sum-H+;

A\J

(Denm=0;
for (i=0; i<u; i++)
| for (7=0; j<n; j*++) sum++;

for (i=0; i<n; i++)
for (7=0; j<nxn; j++) sum++;

|
!

:(4) sum=0;
for (i=0; i<n; i++)
for (5=0; j<i; j++) sum++;

{5y awn=0;

| for (i=0; i<n; i++)

| for (i=0; j<ixi; j++)

. for(k=0; k<j; k++) sum++;

iric matrix M is stored with its upper diagonal part stored in a one dimensional array
major order, i.e. M(1, 1) stored in A[0], M(1, 2)=M(2, 1) stored in A[1], M(Z, 2) is|
, 3=M(3, 1) is A[3], M(2, 3)=M(3, 2)is A[4]. Let M, j) be stored in A[k], write a single
ssion for k in terms of 1 and j, the MAX and MIN functions can be used in this expression.
fumction: MAX(, j)=i if (i>j) otherwise is j ;

anction: MIN(, j)=j if (i>]) otherwise is i

{0%%5)Given the postorder sequence © ABCDEFGHI and the inorder sequence : CBADFEGIH of the
vy tree. Draw a binary tree defined by such a pair of sequences

4. (10%)1 J se the O(IN) algorithm to create a min priority queue based on min heap for the initial list: 9 8
354 hnw your result by graph and then represent your tree by array structure which the root is

16%)Build  the Breadth-first Spanning tree and Depth-first
sanning tree of Figure 1from Vertex B.(You should select the vertex
by the alphabet order when there are multichoice.)

Figure 1
h (10%)Why the Breadth-first Spanning tree or Depth-first Spanning tree can be used to check the

-

ted graph?
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fx(,,u\,nce that will make the worst-case time for the chL Sort Alpo

. 'E‘hc input %quenv@ is one case of the permutations of set {5,3,1,9,7.8} an
-ment,

i pivot)

v O(N) algorithm to compute Fibonacci number F(N). F(N)=F(MN-1}3+F(M 2} with

& 20% ) Multiple Choice questions
: (”E YWhich two staiements are true about the command ip route 172.16.3.0 255.255.255.0 192.168.2.47
1‘, A 1t «stablishes a static route to the 192.168.2.0 network.
}» It establishes a static route to the 172.16.3.0 network.
. It configures the router to send any traffic for an unknown destination to the 172.16.3.0 network.
ﬂ It is a route that would be used last if other routes to the same destination exist.
E. 1t uses the default administrative distance.

1{?}&7\7}1& are ih@ faﬂowing security appliances that can be installed in a network?
A. SDM; B. IDS; C. I0S; D. IPS; E. 10X

,,(3) How many classes of addresses are available for use on the internet?
'AIBW 3D.4E 5. f
{(4 A host is attempting to send data to another host on a different network. What is the first action that
| the sending host will take?

A. Drop the data.  B. Send the data frames to the default gateway.

. Send the data frames to the router.

. Create an ARP request to get a MAC address for the receiving host.

£, Send 2 TCP SYN and wait for the SYN ACK with the IP address of the receiving host.

550

I(5) What are characteristics of UDP?

14 1t s reliable and acknowledged.

. 1t is unreliable and acknowledged.

i ] able and unacknowledged.
liable aud unacknowledged..
ot answer. ’

(6) Wihat are three basic parameters to configure on a wireless access point? t
A. SSID; B. RTS/CTS; C. TKIP/MIC; D. RF channel; E. authentication method ;

‘hich option is a valid IPv6 address?
- 0000: H(}r (099a::12a; B. 2002:7654:A1AD:61:81AF:CCC1 ;
COARCTY: WYYV Z:0067::2A4 ; D. FECO:ABCD:WXYZ:0067: 7A4IF E. 2004:1:25A4:886F:

()How many mtal hosts are possible with a class C address and a subnet mask of 255.255.255.224% |
A 24: 8. 30, C. & D.16; E4

(9) For the network 163.13.2.0/23, which option is a valid IP address that can be assigned to a host? {
AL 163.13.2.0: B. 163.13.2.255; C. 163.13.3.255; D. 163.13.4.0; E. 163.13.4.255 |

(10)How many addresses for hosts will the network 124.12.4.0/22 provide?
510; B. 1022; C. 1024; D. 204'8 E.512




